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Write your roll number in the space provided on the top of
this page.
This paper consists of fifty multiple-choice type of
questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off
the paper seal / polythene bag on the booklet. Do not
accept a booklet without sticker-seal / without
polythene bag and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.
(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.
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where (C) is the correct response.
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Read instructions given inside carefully.
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your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
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conclusion of examination.

(it)

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.
12. There is no negative marks for incorrect answers.

~

10.
11.

qhgnteat & forg e

TS T & S A WE W 0 ot AR fafa |

TG U0 U U gl 0 € |

T TR B W, WeA-gRdehT SO ¥ & ST | vt

UrE A Ul TGRSR Tie a1 S9! FETead

St & ToTg f52 ST, fS/ent St e 31aee et ©

(i) TA-9RTHT Wi & feTT GReshT IR o STt St et /
et 9 B Be o | Getl g8 A1 fo L /
fom aiferel o @GR Wi T FY |

(i) ®a¥ g ¥ TU FETER av-gRast & g qu
Tl F WEn W al W S w0 A BR A W
T 1 et giwer TS geeyme w91 gawT e
T E A Hikae § 7 g oy e ot yew @
aﬁu‘ﬁuﬁawaaﬁamqaﬁ'mnwﬁmaﬁ

T H W T UvA-gReT o o |

7o T st e fie B SR | e A |
A MU JIA-RAT T o TR AR T @ stmue
sfafa wag foar s |

(iil) T Sirar & 91 OMR U5 i HH GE&AT 36 TI-JReeht
W 3T W |

T U9 o fefT IR SR faehed (A), (B), (C) 91 (D) &&

T E | I TE ST F I Bl U W WAL HeAT FET §

St o A fewmar @ E o

T/ : (B) @ O =@ wWswe |

TR % ST Hael U9 U [ % 7Y 153 T OMR UA& T
3ifehd A € | A5 3T OMR % W f§3 T3 97 % 37T
zﬁ;ﬂwwwwﬁwmaﬂﬁ%,aﬁmm
|
=Y 67 T RN @ AYEE uE |
e B (Rough Work) T IRehT & 311 I8 W &L |
T M7 OMR U5 W Fod ®H & 3Tt 319 9, A
T, B T A0 i O 0ar o eE el wem |
e, 3ifehd I & STUST 3TTE W1 T WA Y €, AT hig
3T I T B VAN RS &, O Wl & o e
BlIECRE RS o il
TTYeRT TRIET T & W oI OMR T R8Tk Weisd s
AN 3MEvge & 3T W TAma % o 39 30 9y
T Ha § Y 7 AR T | TAites 319 9 gaiid 97
OMR U5 i ufq o9 G o S g § |
FaeT Hel/BA aTel ETEE U7 BT 81 QT B |
foret oft UPR T HWUTE (FAFALY) AT ATT A A B
AT afeaa €

. T IR & fTU HE 3 wre e W |

J-04-13

P.T.O.



Note :

PSYCHOLOGY
Paper — 11

questions are compulsory.

Substantially higher performance
scores than verbal scores on the
subtests of  Wechsler  Adult
Intelligence Scale (WAIS) indicates
(A) Gender differences

(B) Learning difficulties

(C) Genetic influences

(D) Cultural biases

Ruchi remembers that when she was
eight year old she was whimsical.
This memory of Ruchi is called

(A) Episodic memory

(B) Semantic memory

(C) Sensory memory

(D) Amnesic memory

Which is the most basic and common
obstacle to problem solving ?

(A) Confirmation bias

(B) Fixation

(C) Functional fixedness

(D) Mental set

The child who says “Milk gone” is
engaging in . This type of
utterance demonstrates that children
are actively experimenting with rules
of

(A) Babbli Babbhng, syntax

(B) Telegraphic speech; syntax

(C) Babbling ; semantics

(D) Telegraphic speech; semantics

Problem solving comprises of four

stages. Choose the correct sequence

of stages

(A) Incubation, preparation,
verification, illumination

(B) Preparation, incubation,
illumination, verification

(C) Incubation, preparation,
illumination, verification

(D) Preparation, illumination,
incubation, verification

Paper-11

6.

This paper contains fifty (50) objective type questions of two (2) marks each. All

Match the following lists :

List—1I List — 11
(Author) (Focus/Emphasis)

a. Kagan & 1. Mental
Haveman, manipulation
1979

b. Silverman, 2. Solution of
1978 problem

c. Whittaker, 3. Mediating
1970 process

d. Humphrey, 4. Goal directed
1963 process

Codes :

a b c d

(A) 1 2 4 3

B) 1 2 3 4

© 1 3 2 4

D) 1 4 3 2

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R).

Assertion (A) : Thinking about
objects brings change in
attitudes.

Reason (R) : Attitudes toward

complex issues and objects are
typically a mixture of positive
and negative feelings.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.
(D) (A) s false, but (R) is true.
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8.

10.

Match List — I with List — II and
indicate your answer using the codes
given below :

List -1 List — 11
(Memory (Brief Description)
Phenomena)
a. Semantic 1. Memory for events
memory that occur in a

particular time,
place or context.
b. Priming 2. Memory for skills

and habits.
c. Episodic 3. Memory for general
memory knowledge and facts

about the world.
d. Procedural 4. Information that

memory people already have

in storage is
activated to help
them remember
new information
better and faster.

Codes :

a b c d

(A) 3 2 4 1

(B) 4 3 2 1

<) 3 4 1 2

(D) 2 4 3 1

A subject is presented four non-sense
syllabus one by one each for two
seconds. After presentation of the
four items, the subject is asked to
count backward aloud by threes from
some number for fifteen seconds and
after that he/she is asked to recall the
non-sense syllabus. What memory
storage is being measured in this
experiment ?

(A) Sensory memory storage

(B) Working memory storage

(C) Short term memory storage

(D) Long term memory storage

When the previously learned task
affects the retention of task being
currently acquired, the phenomenon
is referred to as :

(A) Retroactive interference

(B) Proactive interference

(C) Retroactive effect

(D) Proactive effect

Paper-11

11.

12.

13.

14.

Assertion (A) : Positive psychology
draws its  strength  from
humanistic psychology.

Reason (R) : Both humanistic and
positive psychology believe in
positive human qualities.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) 1s not the explanation of
(A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

The basic difference between classical
conditioning and instrumental learning
is of

(A) Presentation of stimulus

(B) Emitting of response

(C) Temporal contiguity

(D) Mechanism

Major criticisms of Thurston’s theory
of intelligence are based on

L. Use of subjective measures

II.  Restricted heterogeneity in sample
III. Method of factor analysis

(A) TIandII are correct.

(B) IandIII are correct.

(C) 1II'and III are correct.

(D) 1, II and III are correct.

Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R). Indicate your

answer using the codes given below :

Assertion (A) : Heritability of
intelligence explains variations
due to genetics for individuals
within a given population.

Reason (R) : Earlier the children
from deprived families were
adopted, the higher their
intelligence score will be.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) s false, but (R) is true.
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15.

16.

17.

18.

Read each of the following two
statements Assertion (A) and Reason
(R) and indicate your answer using
the codes given below :

Assertion (A) : Psychoactive drugs
affects the nervous systems to cause
change in perception or mood.

Reason (R) : Reticular activating
system is related to perception
and mood.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Match List — I with List — II and
indicate your answer using the codes
given below :

List -1 List — 11
(Glands) (Hormons)
a. Pituitary 1. Melatonin

b. Adrenal Cortex 2. Adrenaline

c. Pineal 3. Prolactin
d. Adrenal Medulla 4. Corticosteroids
Codes :
a b c d
(A) 2 1 3 4
B) 1 3 2 4
<) 4 3 1 2

M) 3 4 1 2

What is the correct sequence of ear

parts given below ?

(A) Eardrum — Hammer — Anvil —
Stirrup — Oval window

(B) Oval window — Hammer —
Eardrum — Anvil — Stirrup

(C) Eardrum — Anvil — Stirrup —
Hammer — Oval window

(D) Oval window - Anvil -
Hammer — Stirrup — Eardrum

We can cope with stress by becoming
aware of our irrational, upsetting
thoughts and replacing them with
rational, calming thoughts. This view

represents.
(A) Cognitive behavioural
approach

(B) Psychoanalytical approach
(C) Socio-cultural approach
(D) Bio-social approach

Paper-11

19.

20.

21.

An  instrumental  response s
conditioned only when organism
interprets the reinforcement as being
controlled by its response. This view
is supported by
(A) Tolman

(C) Seligman

(B) Skinner
(D) Beck

When a child gets two chocolates
once every week for its performance
in the class it is an instance of

(A) Fixed ratio, variable interval
(B) Fixed ratio, fixed interval

(C) Variable ratio, fixed interval
(D) Variable ratio, variable interval

Match List — I with List — II and
indicate your answer using the codes
given below :

List — I List — 11
(Learning (Brief
term) explanation)
a. Positive 1. Removal of a
reinforcement pleasant or
appetitive
stimulus after a
behavioural
response.

b. Classical 2. Delivery of a
conditioning pleasant or

appetitive
stimulus that
follows a
behavioural
response.

c. Punishment 3. Presenting a
neutral stimulus
after a stimulus

that usually
elicits a specific
response.
d. Omission 4. Presentation of
training an unpleasant or
aversive
stimulus after a
behavioural
response.
Codes :
a b c d
(A 2 3 4 1
B) 4 1 3 2
<) 1 4 2 3
(D) 3 4 1 2
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22,

23.

24.

Match List — I (Psychologist) with
List — I (Test) :

List—1 List — II
(Name of (Name of Test)

Psychologist)

a. J.B.Rotter 1. NEO-
Personality
inventory

b. C. Robert 2. Hardy

Cloninger Personality
c. Suzanne 3. Locus of control
Kobasa

d. P.T.Costa 4. Temperament
and character

inventory
Codes :
a b c d
A 1 2 3 4
B) 3 4 2 1
<) 3 4 1 2
(D) 3 2 4 1

In a study on ‘Career Aspirations of
Students’, the respondents were
required to state their career
aspirations in about sixty words. This
would be an example of

(A) Fixed-alternative item

(B) Scale item

(C) Open-end item

(D) Checklist item

Read each of the following two

statements-Assertion (A) and Reason

(R) and indicate your answer using

the codes given below :

Assertion (A) : In Ponzo illusion
and Muller-Lyer illusion, linear
perspective is misapplied to the

display.

Reason (R) : According to
Gregory perception is only a
function of stimulus
characteristics.

Codes :

(A) (A)is true and (R) 1s false.

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is false and (R) is true.

(D) Both (A) and (R) are true and (R)
is the correct explanation of (A).

Paper-11

25.

26.

27.

Match each of the following
organizational laws with its meaning.
Select the correct answer using the
code given below :

List—1 List — 11
(Law) (Meaning)
a. Closure 1. Elements close
together are
grouped together.

b. Proximity 2. Patterns are
perceived in the
most basic, direct
manner possible.

c. Similarity 3. Groupings are
made in terms of
complete figures.

d. Simplicity 4. Elements similar
in appearance are

grouped together.
Codes :
a b c d
A) 1 4 2 3
B) 2 3 1 4
<) 4 2 3 1
(D) 3 1 4 2

Which of the following is not one of
the Big Five personality factors ?

(A) Submissiveness

(B) Agreeableness

(C) Extroversion

(D) Openness to experience

Read the following two statements

Assertion (A) and Reason (R) and

indicate your answer using the codes

given below :

Assertion (A) : The level of arousal
for optimal performance varies
for different tasks.

Reason (R) : Too little arousal
can be non-motivating, too
high arousal can be disruptive.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.
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28.

29.

30.

31.

32.

33.

Match List — I with List — IT and
indicate your answer using the codes
given below :

List -1 List — 11
(Behaviour) (Expression mode)
a. Tone 1. Facial
b. Crying 2. Glanduar
c. Laugh 3. Varbal
d. Eyebrow 4. Muscular
Codes :
a b c d
(A 3 2 4 1
B) 1 4 3 2
<) 2 4 3 1
(D) 2 1 3 4

A slow graded electrical potential
produced by a receptor cell in
response to a physical stimulus is

(A) Receptor potential

(B) Generator potential

(C) Transduction

(D) Arousal

This area contains ‘Somoto Sensory
Cortex’

(A) Parietal lobe

(B) Frontal lobe

(C) Temporal lobe

(D) Occipital lobe

Give the correct sequence of the

location of following glands in

human body from top to bottom

(A) Thyroid — Adrenal — Pancreas —
Pituitary

(B) Thyroid — Pancreas — Pituitary
— Adrenal

(C) Pituitary — Adrenal — Thyroid —
Pancreas

(D) Pituitary — Thyroid — Adrenal —
Pancreas

A complex behaviour that is rigidly
patterned throughout a species and is
unlearned is called

(A) Imprinting (B) Instinct
(C) Emotion (D) Feeling

Our tendency to perceive objects as
unchanging despite changes in
sensory input is an illustration of

(A) Figure-Ground relationship

(B) Perceptual constancy

(C) Binocular cues

(D) Linear perspective

Paper-11
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34.

3S.

36.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : As compared to
other methods of psychological
research, experimental method
is usually considered to be best
suited for studying cause and
effect relationship.

Reason (R) : Secondary variance
is more efficiently controlled in
experimental method.

In the context of the above two

statements, which one of the

following conclusion is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) 1s not the explanation of
(A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Consider the following three types of
psychological researches :

1. Field experiment

2. Laboratory experiment

3. Expost facto study

Arrange these typical investigations
in descending order in terms of the

researcher’s  ability to  control
secondary variance.

(A) 3,1,2 B) 2,1,3

) 3,2,1 (D) 1,2,3

What is the correct sequence of

development of the following

personality tests :

1. Maudsley Personality Inventory

2. Minnesota Multiphasic
Personality Inventory-2

3. Millon  Clinical Multiaxial
Inventory
4.  NEO PI-3
Codes :
(A) 1,2,3,4 B) 4,3,2,1
<) 2,4,1,3 D) 1,3,2,4
J-04-13



28.

29.

30.

31.

32.

33.
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(B) e @s

(C) ot uifer

(D) UYEEHUT ©E AT Uit

T IR § Fefaiaa ufem = oid |
e o STaETd T Wl 3T SdTed
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34.

3s.

36.

e 51 o 3 T, U H A
(A) 3R W H FROT (R) H AW fzar
™Y

AWFHUT (A) : FE-FROT G H
T FA % oI, AR
Iy & = ot o qemr o
VTR fofe T STHEEn eas
YT T AT & |

HRUT (R) : T fafts # o
TR SR FRIAAesh  HEn
BAE |

ST T U % Gy H, et o

Y i 91 oy TET & 2

(A) (A) 3 (R) I T & 37 (R),
(A) =l & =R E |

(B) (A) 3R (R) 3Hf T € W (R),
(A) I T AR TEIE |

(C) (A) I &R (R) FFAE |

(D) (A)SEA T (R)THT |

TGRS Sl & Fetaiga J9 TR

W foamR #Y

1. &6 mEm

2. VENTIICT WA

3. PR ITeEEd

T TS ST ST TNeshal bl 0T

TGR0T i AR e i &1 & STER

AT hH | AT Y ;

(A) 3,1,2 B) 2,1,3

© 3,21 D) 1,2,3

fr=fefad =afade adiemon & foera &

T SR T 2

1. WreHe Sfwd g

2. THAiERT Sgus A -2

3. oo focfeet agenedia ga=d

4. TIT I -3

(A) 1,2,3,4 (B) 4,3,2,1
© 2,413 D) 1,3,2,4
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37.

38.

39.

40.

Perceiving one thing in relation to
another when both are presented
simultaneously is called

(A) Simultaneous perception

(B) Figure-Ground perception

(C) Consecutive perception

(D) Successive perception

Verbal behaviour that is reinforced
when someone else’s verbal response
is repeated verbation is called

(A) Autoclitic behaviour

(B) Echoic behaviour

(C) Reinforced behaviour

(D) Operant behaviour

Which of the following are essential
to Spearman’s methodology of
theory development ?

L. Tetral equation

II.  Tetral difference

III.  Specific factor

IV. Neurological basis of
intelligence
Codes :

(A) L, IIandIII
(B) LIIandIV
(C) 1L, I and IV
(D) L IIandIV

Dissociable  sub-systems operate
simultaneously in each hemisphere
and help us recognize similarity at
one level and differences at another
level in the perceived pattern. This
system consists of

1.  Top-down processing system

2. Abstract category sub-system

3.  Bottom-up processing system
4.  Specific-exemplar sub-system
Codes :

(A) 1and2 only

(B) 3 and 4 only

(C) 2and4 only

(D) 1and4 only
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41.

42.

43.

44.

Based on Eysenkian theory of
personality, what is the correct
sequence levels of personality from
bottom to top ?

1.  Habitlevel 2.
3.  Typelevel 4.
Codes :

(A) 1,2,3,4 (B) 4,3,2,1
C) 4,1,2,3 (D) 2,4,1,3

Trait level
S.R. level

Speed and power tests cannot be
differentiated on the basis of

I. Time limit

II.  Verbal content

III. Non-verbal content

IV. Difficulty level

Codes :

(A) TandIV (B) IMMandIV
(C) IMandIII (D) LlIandIV
According to two factors of

Retroactive Interference, RI is caused
by two factors : One is unlearning of
the first task during the time one is
engaged in the second task. What is
the second factor ?

(A) Unlearning of the responses of
second task.

(B) Competition of the first task
responses with the second task
responses that inhibits the
recall responses of the first task
at the time of recall.

(C) Inability to recall responses
from first task.

(D) Decaying of memory-traces of
responses of first task.

One of the difficulty with the survey
method is
(A) inability to examine changes

over time.

(B) that subjects may give
dishonest or inaccurate
responses.

(C) the relatively small number of
subjects used.

(D) the impossibility of getting a
representative sample.

J-04-13



37.

38.

39.

40.
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(B) I, I3 IV
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fafTe SETREROTcT Susqaen

Eal

(A) 12T E |
(B) 334w E |
(C) 23R4T E |
(D) 134T |

J-04-13

13

41.

42.

43.

44.

e & AENAERIT [Gg W
T A & 9 9 IW d% &

T T TEl SR T € 2

1. 3MEa®W 2. 9T T 'R
3. UETER 4, THIR ®R

&<

(A) 1,2,3,4 (B) 4,3,2,1

(C) 4,1,2,3 (D) 2,4,1,3

g @ TER) AR TR+ TEr
frfefad & emur w fofsa &
WW%:

I o

II. wifgs fguae

Il R-vifge fougeg

IV. HE & &R

&

(A) 13RIV (B) 13RIV

(C) 1II3RIII D) LRIV

TRRE ST % f5-HR (8 &

AR U@ SATTHUT I HRUT &

FHROT BT & | S0 § U {5l S

ST Y THT T2H 1 A TR

¥, O TR HROT T E 2

(A) s w&d & sEfmamst @
foeor

(B) UETN % THI UAH FHE Hl
sEfFaTeT @ Fam wE W
STfRaTeT | wfaeael ST uad &
1 STRHATST St Tehell & |

(C) Word HF H KA A
TS i <l STeTH

(D) W H SHCRATSN & Wia-fael
HT &0

TAI0T UgTd o WY Hieredl § 9 Uh &

(A) THAUR GREdT i ST A D
STRTHAT

(B) ¥ f v 3ar a1 Tod S T
T § |

(C) ST fFT STH aret wEsdr o
IS €0 F Bl Gt

(D) widffe ufdset oM 6t Sraear

Paper-11



45. A cell in a contingency table had an
obtained frequency of 16 and an
expected frequency of 25. What
would be the contribution of this cell
to the total chi-square value ?

(A) 3.24 (B) 5.06
(C) 9.00 (D) 81.00

Questions 46 to 50 :
Read the following paragraph and answer
the five questions which follow :

The notion of true score is at the heart of
classical reliability theory. This model
proposes that the obtained score on a
variable is a sum of true score and the
random error of measurement, the two
components being independent. Using this
model, various ways of computing
reliability have been developed. One of the
way of examining the reliability of a test is
to test the homogeneity of test items or the
internal consistency. The most widely used
method of estimating the reliability is split-
half technique, also called as odd-even
reliability. In this context, Spearman
Brown correction is important. Kuder-
Richardson reliability and Chronbach
Alpha are the two other methods of
studying internal consistency.

Another important type of reliability is the
interscorer reliability. This reliability is not
useful for objective tests, but for certain
types it is quite important. There are also
other types of reliability such as parallel
form reliability and test-retest reliability,
the latter concerned with temporal stability
of the test results.

46. Reliability can be defined as
True score variance
(A) Total variance
Error variance

B "
(B) Total variance
True score variance
(©) Error variance
Error variance
(D)

Total score variance

47.

48.

49.

50.

Paper-11

14

For a newly developed test, the

scores on odd and even part

correlated by 0.4. After applying

Spearman-Brown formula

(A) The corrected reliability would
by 0.8.

(B) The corrected reliability would
be 0.4.

(C) The corrected reliability would
be greater than 0.4 and lesser
than 0.8.

(D) The corrected reliability would
be lesser than 0.4.

Which of the following statement is

true for tests with dichotomous items ?

(A) Chronbach Alpha is greater
than Kuder-Richardson
reliability.

(B) Chronbach Alpha is smaller
than Kuder-Richardson
reliability.

(C) Chronbach Alpha and Kuder-
Richardson reliability are equal.

(D) Chronbach Alpha may be
greater or smaller than Kuder-
Richardson reliability.

For which of the following types of
tests interscorer reliability is relevant ?

1.  Objective personality
inventories

2. Projective tests

3. Achievement tests with

descriptive items
4. Intelligence tests
Codes :
(A) 1land2only
(©) Tland3only

(B) 2and4only
(D) 2and3only

If two groups are administered the
same test with a time gap of eight
weeks, we would be able to compute
(A) Test-retest reliability

(B) Parallel form reliability

(C) Interscorer reliability

(D) None of the above reliabilities

can be computed.
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(A) 3.24 (B) 5.06

(C) 9.00 (D) 81.00
AT 469 50 :
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